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" -The figures in the rzght-hand matgm indicate marks.

Candidates are requtred to give their answers in thelr
own words as far as practicable.

Write the answers of Group-A and Group-B in
separate books

. GROUP-A
. (Inorganic-1)

[Marks : 121=]
1. Answer an}’ three questions : % x3=11
i oAl o Tey we:

é) Write down the significance Ofl\yz .

‘l’z -9 ETQ;’N( G|

b) How many radial nodes are there for 3p orbital?

Wmﬁﬁﬁmmmm?

[Turn-bver] :



- Draw the angular nodes of 3d 'orl')ita.l.
3d_-S=RfZBiET e @S o |
Write dOWn one drawback of Slater S rule

Wﬁmaaﬁﬁw sl

Wnte down the ground state term of C-atom

WWWW&M@ NI

Answer any two questions :

. 3x2=6
m@m%@am

g) - State Helsenbergs uncertamty prmc1ple Pomt
. out its s1gmﬁcance

| ORI Al 7‘4’!1%\% . ’@rwf
- P -

b) Descrlbe Allred Rochow method for the
detenmnatlon of electronegativity.

@@Q R EO)] ﬁcfcaa Allred-Rochov_v QA

T 37

.Calculate SCreening constant and effective
fluclear charge for the 3d and 4s electrons of
iron.’ L -
B 3d '@ 45 ST STIRA TR 579 6
| R 3 i B 7
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3. Arls:wer any one question : - . 5%x1=5
@I @%b gviw Tex wte: |
a) .i) Comparevan der Waals radii with covalent
radii. .
Van der Waals radii-99 AR m@
radii-49 gl I

ii) Second electron affinity of oxygen is
negative — Explam

wRiEET A8 ST SR e -
I FA T 342=5
b) i)' Using Pauling method calculate the ibnic
radii of K* and Cl-ions in KCl crystal The .
) obserVed K*CI" distance inKClis 3.14 A |
oS <1 R S, KCl e
K* '8 CI SHSfR e (sifie) fiefy
FK @ Cl e w1 vt S
g z& 3.14 A
i) The fourth ionization potentlal of boron

is abnormally high compared to e next
three elements — Explain
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GROUP -B
(Organic-1)
[Marks : 12%]
1. Answer any three questions : % x3=] %

@@ foaie amig Ten wis:

a) Indicate the state of hybridisation of carbon atom
marked in the following compound :

¥
CH, —CH=CH—CH -C=CH

e cﬁzﬂaﬁ%@w AT AP AT
g ot 959 -

*
CH,-CH=CH-CH,-C=CH

b) Acetylene forms silver acetylide but ethylene
does not — why?

Wﬁ%ﬁwﬁa@mwﬁﬁaﬁmwﬁ?@
PRECE o e

¢) Determine E/7 configuration of the followmg
compound :

FEfRe @iy gz wesicm P 7
' Cl

' Hﬁ<1:
Draw the Newman projection formula of threo-
3-bromo-2- -butanol.

. Threo-3"br0rno-2-butan01"ﬂ?f A Sfers
T 9
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d)

(4)

e) Assign the configuration (R/S) of the
stereocentre in the following compound :

fsifEs ceifba(R/S) Ttttz fidfset = -

Cl

2. Answer any two questions : . 3x2=6
- 7o aedT Ted wia:

a) i) Arrange the following carbocations in
[n A . order of their i Increasing stability :

CH, CH,,(CH,), CH, (cp ) & PheH
2 2

ii) Which one of the follo
reactive towards SN re
CH, CH20CH Clang ¢

H,cy CH,(y
fiea @A SN ﬁﬁwf .
SR Fo

Wing is more
ctlon and why?

a3 (A ? i
CH,OCH,CI apg =3
CH,CH, 2 CH3CH2CH2C1
: (5)
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by 1)

i)

ii)  What do you mean by racemic Jactic acid?

. &P Fehe-eribe e F @R
| 142=3

3. Answer any one qQuestion :

While ethane shows substitution rea_ction,
ethylene exhibits addition reaction.

Explain.
I e afegem [ I O
SR o Rigram Ae! ¢ — IR0

Discuss E1 and E2 reactions with suitable -

examples.
A Gwizad @ret Bl ¢ E2 i@
SEETH A 1+2=3

Arrange the following ions in increasing

order of nucleophilicity :

F-,Br,Cl, T |
ArefrerRbin eradiy o TP
fefRe wEaefd Aeme:

EBIy . Cle I

EEIET @b ey e wie:

a) i) Describe the hydroboration reaction

which helps in preparing primary alcohol
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from alkene.

(6)

5%1=5

i)
b) 1)

ii)
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Identify A and B from the otonolysis
products as follows:

fms srenaikte Rigay BT

- (9T (AT A R B NS 59 |

A’....: Ozonolysis— Acetone + Ghyoxai
+ formaldehyde

Bras. Ozonolysis—  Acetone +
formaldehyde 2+3=5

What is centre of symmetry? How is it

related to the aplical activity of 3

compound.

Wmﬁs? @[ﬁ@@% @C’ﬁ?{
WW‘%%@%? :

How would you distinguish chemically
between 1-butyne and 1-pyepe0

(7)



